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Investigation: Complete the following table for the powers of ten.

Bul-e«ck,

Power Expanded Form Standard Form Number in Words
1 1o 10 1010010101040
1 1o 101010 10101010
" o 10 \0 1671671010
o 1010 1041010

T 010 10 -10°10

"7 o0 <10 - 10

T o0 - 10

102 \O\O

10° \O

100

Have another look at the chart above, can you see the following patterns?

~ for powers of 10, the exponent =
~ dividing by

~ zero exponent =

for each descending power

We could make similar tables for any power with any base not equal to zero.

¥ This

power with exponent zero.

Forexample:

means that we can write 1 for any
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Qo = I

Ko=_ |

(flower)® =___| v
(any number that isn’t 0)° =1—

_// "

o

x® =1
"Zero Exponents”
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THE ZERO EXPOPNENT RULE:!

“any base number or any base variable (letter) raised to the zero exponent,
is always equal to 1”

...BUT the base cannot also be zero.
x*=1 x#0

Example #1: Evaluate each expression /D/—> ( | >

a) 8° b) (8)° ¢)~(-8)°

L[[PRACTICE (-

Evaluate the following:

1. 6° 2. -6)

3 (-6)° 4 60

5. 20+ 30 6. 20 _ 30

7. 309x 4° 8 (20 + 30)9

, ASSIGNMENT #2 Complete the Following
M@’W@k Worksheet on “The Zero Power Rule”




Applying the Exponent Rule for Zero Exponents

Evaluate the following powers.

N =\

&

4) -8a

-6 (a)

-5-1=-%

7 3" y

3:&(1):{5
k_/—\f\—"
% z&b = 55

1y e °
10) % = -
(2”) (a0 @) (1)

2) (3x);, 3) 55°
(\) =\ 5'\'6
5-1=5
5)(@ 6) a®+b°
o+ Lo+l =L
1 +\ = A

8) 10(»5:;‘53

1Ox (™= )
tox (1 x1)

1o~(1) =10

£y
{5

o),
9) (0.005w)"abc

(0.005° = S Jr o~ = C

(U x| )~a~oxC
\_ff_\(;\{o\.b-c_— aoC

12) 24" +(2a)° + 2%

e~
= ()= 2 0°) +(@act) + (-0
B l;x[\f(!)\\)-r(\“c*)
- - W\J e e~
\ + v T
——
13) ( 9"% 9x—— 14) (m+2)0 =m0 — 2mQ X +C = drCy
(6 o)~ (- f) afr :;:Q"-_-u (3
(\:1) hh'(‘ 1) 14) (m+2)° —=m" = 2m°
! -4 +\ =7
v)° ¢ f = L ‘3- n-
15) (:Otrjo (t°:-v2_ 1l 2 = 16) 2 (SmnSp) ‘ime/ﬁ;&") _52"_
o , 20 i A ?
AT " 1 a0 B &
7 (cd3) co.a° I f e '—%F >
19) (.\'_V')”-F,rn——_}’u—xoyo 20) 50(3+ZO)
(x..\o)fl '-\"("0 I.(S-}-\)
\91-\-]“‘\ =0 (D=4
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